

## SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



Legendre's Linear Differential equation 1> (an+b)y" Totansform the equation to constant coefficient of equation ( (&x+3) y" - (2x+3) y'+2y=6x. anto 1 4 put  $(2x+3) = e^2$ gn= e-3  $\alpha = \frac{e^2 - 3}{2}$ Z = log(2x+3)  $(2x+3)^2 D^2 = 2^2(0^2 - 0) = 4(0^2 - 0)$  $x^2 D^2 = D'^2 - D'$ (2n+3)D = 20xD = yD' $[(2x+3)^2D^2 - (2x+3)D+2]y = bx$  $\left[ 4(0^{2}-0) - 20 + 2\right] y = \mathcal{B}\left(\frac{2^{2}-3}{3}\right)$ [A02-40-20+2] y= 3e2-9  $[40^2 - 60 + 2] y = 3e^2 - 9$ which is a linear equation with: Constant Wefficient





8. 
$$(1+\pi)^{2}y'' + (1+\chi)y' + y = 280[\log(1+\chi)]$$
  
 $(1+\chi) = e^{2}$   
 $\chi = (e^{2}(1+\chi))$   
 $(1+\chi)^{2}D^{2} = (^{2}(e^{2}-e)) = e^{2}-e^{2}$   
 $(1+\chi)^{2}D^{2} + (1+\chi)D + (]y = 2-sin[log(1+\chi)])$   
 $[e^{2}-e^{2}+e^{2}+(1+\chi)D + (]y = 2-sin[log(1+\chi)])$   
 $[e^{2}+e^{2}+g^{$ 





$$M = \frac{-b \pm \sqrt{b^{2} - \mu aC}}{2a}, \quad a = \mu, b = -b, c = n/2$$

$$= \frac{-b \pm \sqrt{b^{2} - \mu aC}}{2(4)} = \frac{-b \pm \sqrt{3b + 1^{n}\mu^{2}}}{8}$$

$$= \frac{-b \pm \sqrt{3b - \mu(4)(x - 12)}}{2(4)} = \frac{-b \pm \sqrt{3b + 1^{n}\mu^{2}}}{8}$$

$$= \frac{-b \pm \sqrt{4228}}{8} = \frac{-3}{4} \pm \frac{2\sqrt{57}}{8} = \frac{-3}{4} \pm \frac{4\sqrt{57}}{4}$$
The Roots are Real and adultation the constant of the constan



## SNS COLLEGE OF TECHNOLOGY (AN AUTONOMOUS INSTITUTION) COIMBATORE - 35 DEPARTMENT OF MATHEMATICS



A) 
$$\left[ (n+2)^{2}D^{2} - (x+2)D + i \right] y = 3x + i + i$$
  
 $x+2 = e^{2} \Rightarrow x = e^{2} - 2i$   
 $(x+2)D = 0 \quad (x+2)^{2}D^{2} = i^{2}(0^{2}-0)$   
 $\left[ 0^{2}-0 - 0 + i \right] y = 3(e^{2}-2) + i + i$   
 $(0^{2}-20+i)y = 3e^{2}-6+i + i$   
 $(0^{2}-20+i)y = 3e^{2}-2i$ .  
AE  $\Rightarrow m^{2}-0m+i = 0 \Rightarrow m = \pm i + i$   
Roots area and equal  
 $CF = (Ae+Bz)e^{2}$   
 $PI_{1} = \frac{1}{D^{2}-2D+i} 3e^{2} = \frac{1}{(1)^{2}-2(1)+i} 3e^{2}$   
 $= \frac{7}{2} \cdot 3e^{2} = \frac{3}{2} \cdot 2e^{2}$   
 $PI_{2} = \frac{1}{D^{2}-2D+i} (-2)e^{02} = -2i$   
 $y = CF + PI_{1} + PI_{2}$   
 $= (A+Bz)e^{2} + \frac{3}{2} \cdot 2e^{2} - 2i$   
 $= [A+B(log(x+2)](x+2) + \frac{3}{2} [log(n+2)]^{2}(x+2)$